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<First Modification>
5.1a.3
Packet data block type 14 (UAS-7)

5.1a.3.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 966 information bits {d(0),d(1),...,d(965).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,490

i2(k-491) = d(k)

for k = 491,...,940

And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965

<Next Modification>
5.1a.4
Packet data block type 15 (UAS-8)

5.1a.4.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1069 information bits {d(0),d(1),...,d(1068)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1094 information bits {d(0),d(1),...,d(1093).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,554

i2(k-555) = d(k)

for k = 555,...,1068

And if a PAN is included:

pn(k-1069) = d(k)
for k = 1069,...,1093

<Next Modification>
5.1a.5
Packet data block type 16 (UAS-9)

5.1a.5.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1229 information bits {d(0),d(1),...,d(1228)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1254 information bits {d(0),d(1),...,d(1253).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,634

i2(k-635) = d(k)

for k = 635,...,1228

And if a PAN is included:

pn(k-1229) = d(k)
for k = 1229,...,1253

<Next Modification>
5.1a.6
Packet data block type 17 (UAS-10)

5.1a.6.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1402 information bits {d(0),d(1),...,d(1401)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1427 information bits {d(0),d(1),...,d(1426).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,501

i2(k-502) = d(k)

for k = 502,...,951

i3(k-952) = d(k)

for k = 952,...,1401

And if a PAN is included:

pn(k-1402) = d(k)
for k = 1402,...,1426

<Next Modification>
5.1a.7
Packet data block type 18 (UAS-11)

5.1a.7.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1594 information bits {d(0),d(1),...,d(1593)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1619 information bits {d(0),d(1),...,d(1618).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,565

i2(k-566) = d(k)

for k = 566,...,1079

i3(k-1080) = d(k)

for k = 1080,...,1593

And if a PAN is included:

pn(k-1594) = d(k)
for k = 1594,...,1618

<Next Modification>
5.1a.8
Packet data block type 19 (UBS-5)

5.1a.8.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 479 information bits {d(0),d(1),...,d(478)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 504 information bits {d(0),d(1),...,d(503).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,28

i(k-29) = d(k)


for k = 29,...,478

And if a PAN is included:

pn(k-479) = d(k)

for k = 479,...,503

<Next Modification>
5.1a.9
Packet data block type 20 (UBS-6)

5.1a.9.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 623 information bits {d(0),d(1),...,d(622)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 648 information bits {d(0),d(1),...,d(647).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,28

i(k-29) = d(k)


for k = 29,...,622

And if a PAN is included:

pn(k-623) = d(k)

for k = 622,...,647

<Next Modification>
5.1a.10
Packet data block type 21 (UBS-7)

5.1a.10.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 940 information bits {d(0),d(1),...,d(939)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 965 information bits {d(0),d(1),...,d(964).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,39

i1(k-40) = d(k)

for k = 40,...,489

i2(k-490) = d(k)

for k = 490,...,939

And if a PAN is included:

pn(k-940) = d(k)

for k = 940,...,959+lt
<Next Modification>
5.1a.11
Packet data block type 22 (UBS-8)

5.1a.11.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1228 information bits {d(0),d(1),...,d(1227)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1253 information bits {d(0),d(1),...,d(1252).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,39

i1(k-40) = d(k)

for k = 40,...,633

i2(k-634) = d(k)

for k = 634,...,1227

And if a PAN is included:

pn(k-1228) = d(k)
for k = 1228,...,1252

<Next Modification>
5.1a.12
Packet data block type 23 (UBS-9)

5.1a.12.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1402 information bits {d(0),d(1),...,d(1401)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1427 information bits {d(0),d(1),...,d(1426).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,501

i2(k-502) = d(k)

for k = 502,...,951

i3(k-952) = d(k)

for k = 952,...,1401

And if a PAN is included:

pn(k-1402) = d(k)
for k = 1402,...,1426

<Next Modification>
5.1a.13
Packet data block type 24 (UBS-10)

5.1a.13.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1834 information bits {d(0),d(1),...,d(1833)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1859 information bits {d(0),d(1),...,d(1858).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,645

i2(k-646) = d(k)

for k = 646,...,1239

i3(k-1240) = d(k)

for k = 1240,...,1833

And if a PAN is included:

pn(k-1834) = d(k)
for k = 1834,...,1858

<Next Modification>
5.1a.14
Packet data block type 25 (UBS-11)

5.1a.14.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2248 information bits {d(0),d(1),...,d(2247)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 2273 information bits {d(0),d(1),...,d(2272).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,63

i1(k-64) = d(k)

for k = 64,...,609

i2(k-610) = d(k)

for k = 610,...,1155

i3(k-1156) = d(k)

for k = 1156,...,1701

i4(k-1702) = d(k)

for k = 1702,...,2247

And if a PAN is included:

pn(k-2248) = d(k)
for k = 2248,...,2272

<Next Modification>
5.1a.15
Packet data block type 26 (UBS-12)

5.1a.15.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2440 information bits {d(0),d(1),...,d(2439)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 2465 information bits {d(0),d(1),...,d(2464).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,63

i1(k-64) = d(k)

for k = 64,...,657

i2(k-658) = d(k)

for k = 658,...,1251

i3(k-1252) = d(k)

for k = 1252...,1845

i4(k-1846) = d(k)

for k = 1846,...,2439

And if a PAN is included:

pn(k-2440) = d(k)
for k = 2440,...,2464

<Next Modification>
5.1a.16
Packet data block type 27 (DAS-5)

5.1a.16.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 478 information bits {d(0),d(1),...,d(477)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 503 information bits {d(0),d(1),...,d(502).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

<Next Modification>
5.1a.17
Packet data block type 28 (DAS-6)

5.1a.17.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 574 information bits {d(0),d(1),...,d(573)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 599 information bits {d(0),d(1),...,d(598).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

<Next Modification>
5.1a.18
Packet data block type 29 (DAS-7)

5.1a.18.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 686 information bits {d(0),d(1),...,d(685)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 711 information bits {d(0),d(1),...,d(710).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

<Next Modification>
5.1a.19
Packet data block type 30 (DAS-8)

5.1a.19.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 966 information bits {d(0),d(1),...,d(965).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40

i1(k-41) = d(k)

for k = 41,...,490

i2(k-491) = d(k)

for k = 491,...,940

And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965

<Next Modification>
5.1a.20
Packet data block type 31 (DAS-9)

5.1a.20.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1133 information bits {d(0),d(1),...,d(1132)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1158 information bits {d(0),d(1),...,d(1157).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40

i1(k-41) = d(k)

for k = 41,...,586

i2(k-587) = d(k)

for k = 587,...,1132

And if a PAN is included:

pn(k-1133) = d(k)

for k = 1133,...,1157

<Next Modification>
5.1a.21
Packet data block type 32 (DAS-10)

5.1a.21.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1355 information bits {d(0),d(1),...,d(1354)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1380 information bits {d(0),d(1),...,d(1379).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,38

i1(k-39) = d(k)

for k = 39,...,696

i2(k-697) = d(k)

for k = 697,...,1354

And if a PAN is included:

pn(k-1355) = d(k)

for k = 1355,...,1379

<Next Modification>
5.1a.22
Packet data block type 33 (DAS-11)

5.1a.22.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1691 information bits {d(0),d(1),...,d(1690)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1716 information bits {d(0),d(1),...,d(1715).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,598

i2(k-599) = d(k)

for k = 599,...,1144

i3(k-1145) = d(k)

for k = 1145,...,1690

And if a PAN is included:

pn(k-1691) = d(k)

for k = 1691,...,1715

<Next Modification>
5.1a.23
Packet data block type 34 (DAS-12)

5.1a.23.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2027 information bits {d(0),d(1),...,d(2026)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 2052 information bits {d(0),d(1),...,d(2051).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,710

i2(k-711) = d(k)

for k = 711,...,1368

i3(k-1369) = d(k)

for k = 1369,...,2026

And if a PAN is included:

pn(k-2027) = d(k)

for k = 2027,...,2051

<Next Modification>
5.1a.24
Packet data block type 35 (DBS-5)

5.1a.24.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 480 information bits {d(0),d(1),...,d(479)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 505 information bits {d(0),d(1),...,d(504).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,29

i(k-30) = d(k)

for k = 30,...,479

And if a PAN is included:

pn(k-480) = d(k)

for k = 480,...,504

<Next Modification>
5.1a.25
Packet data block type 36 (DBS-6)

5.1a.25.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 624 information bits {d(0),d(1),...,d(623)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 649 information bits {d(0),d(1),...,d(648).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,29

i(k-30) = d(k)


for k = 30,...,623

And if a PAN is included:

pn(k-624) = d(k)

for k = 624,...,648

<Next Modification>
5.1a.26
Packet data block type 37 (DBS-7)

5.1a.26.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 966 information bits {d(0),d(1),...,d(965).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40

i1(k-41) = d(k)

for k = 41,...,490

i2(k-491) = d(k)

for k = 491,...,940

And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965

<Next Modification>
5.1a.27
Packet data block type 38 (DBS-8)

5.1a.27.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1229 information bits {d(0),d(1),...,d(1228)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1254 information bits {d(0),d(1),...,d(1253).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40

i1(k-41) = d(k)

for k = 41,...,634

i2(k-635) = d(k)

for k = 635,...,1228

And if a PAN is included:

pn(k-1229) = d(k)
for k = 1229,...,1253

<Next Modification>
5.1a.28
Packet data block type 39 (DBS-9)

5.1a.28.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1403 information bits {d(0),d(1),...,d(1402)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1428 information bits {d(0),d(1),...,d(1427).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,502

i2(k-503) = d(k)

for k = 503,...,952

i3(k-953) = d(k)

for k = 953,...,1402

And if a PAN is included:

pn(k-1403) = d(k)

for k = 1403,...,1427

<Next Modification>
5.1a.29
Packet data block type 40 (DBS-10)

5.1a.29.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1835 information bits {d(0),d(1),...,d(1834)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 1860 information bits {d(0),d(1),...,d(1859).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,646

i2(k-647) = d(k)

for k = 647,...,1240

i3(k-1241) = d(k)

for k = 1241,...,1834

And if a PAN is included:

pn(k-1835) = d(k)

for k = 1835,...,1859

<Next Modification>
5.1a.30
Packet data block type 41 (DBS-11)

5.1a.30.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2249 information bits {d(0),d(1),...,d(2248)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 2274 information bits {d(0),d(1),...,d(2273).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,64

i1(k-65) = d(k)

for k = 65,...,610

i2(k-611) = d(k)

for k = 611,...,1156

i3(k-1157) = d(k)

for k = 1157,...,1702

i4(k-1703) = d(k)

for k = 1703,...,2248

And if a PAN is included:

pn(k-2249) = d(k)

for k = 2249,...,2273

<Next Modification>
5.1a.31
Packet data block type 42 (DBS-12)

5.1a.31.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2441 information bits {d(0),d(1),...,d(2440)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 2466 information bits {d(0),d(1),...,d(2465).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,64

i1(k-65) = d(k)

for k = 65,...,658

i2(k-659) = d(k)

for k = 659,...,1252

i3(k-1253) = d(k)

for k = 1253,...,1846

i4(k-1847) = d(k)

for k = 1847,...,2440

And if a PAN is included:

pn(k-2441) = d(k)

for k = 2441,...,2465
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